SUBARU

SOL / LEFT / NEBAA

Impreza 08/1992->
LegacyI 01/1989->07/1994
Legacy II 09/1994->03/1999

20SU0500

10SU0500

As Metal Ref.
Kog As Metal

10SU0500

Rotil
Ball Joint
LLlapoBas onopa

Rotmili
Axial Joint
Tara pynesas

20SU0500

fp———ﬂ

Aciklama

Description / PasbsicHeHve

Alt
Lower
HwxHas

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 MNpaBas Pe3bba

\ ASMETAL

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

®

SAG / RIGHT / MPABAS

i s

20SU0500

10SU0500

Orijinal Kod

Original Number / OpurnHanbHbIii Kog

21067-GA050

34140-AA030
31310-GA152

SOL / LEFT / NEBAA

Leonel 03/1979->10/1984

175U01

=

10SU01

As Metal Ref.
Kog As Metal

Rotil
Ball Joint
LLlaposas onopa

10SU01

Rotbasi
Tie Rod End
HaKoHeuHvK pyneBoi Tarn

Rotbasi
Tie Rod End
HaKkoHeuHvK pyneBoi Tarn

175U01

175U02

Aciklama

Description / Pa3bsacHeHue

Alt
Lower
HuxHas

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 NpaBas Pe3bba

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 NpaBas Pe3bba

SAG / RIGHT / MPABASI

175U02

=

¥

10SU01

Orijinal Kod
Original Number / OpuruHanbHbIli Kog

7210-67000 / 7210-67001
7210-67002 / 7210-67003

7313-20010

7313-20000

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013

www.asmetal.com

=
o
<
[a2)]
=
(%]




\ A‘SM E ML \
Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ana Moaseckn W Pyns Ynpasnenus U BA R U

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

Forester 08/1997->
Legacy III 10/1998->08/2003
Legacy IV 09/2003->

Legacy V 09/2009->

=

<

o ¥ ¥

=

“ 105U0500 105U0500

As Metal Ref. Aciklama Orijinal Kod
Kog As Metal Description / Pa3bscHeHve Original Number / OpuruHanbHbIi Kog

Rotil Alt
10SU0500 Ball Joint Lower 21067-GA050
LLlapoBas onopa HuxHas

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

388 Product Catalogue 2013 www.asmetal.com




\ ASMEM L \
Rot ve Rotilleri / Steering And Suspension Parts
U BA R U 3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

SOL / LEFT / NEBAA

LeoneII 11/1984->02/1992
1800XT  11/1984->12/1990

et

SAG / RIGHT / MPABAS

175004 175003
b7 b2
' =
o
¥ ¥ <
m
=
105U01 10SU01 =

As Metal Ref. Aciklama Orijinal Kod

Kog As Metal Description / PasbsicHeHVe Original Number / OpurnHanbHbIii Kog

Rotil Alt
) 7210-67000 / 7210-67001
10SU01 Ball Joint Lower
- \Laposan onopa Huxrsis 7210-67002 / 7210-67003
Rotbasi M14x1,5 Sag Dis g
175003 Tie Rod End M14x1,5 RHT <A
HakoHeuHuk pyneBoii Tarm  M14x1,5 MpaBas Pe3bba 31320-GA102
Rotbasi M14x1,5 Sag Dis "
175004 Tie Rod End M14x1,5 RHT SZATERT
HakoHeuHwK pyneBoii Tarm  M14x1,5 MpaBas Pe3bba 31320-GA112

SOL / LEFT / NEBAA

ust 10/1995->11/2003

'

175220 175220

SAG / RIGHT / MPABASI

O

As Metal Ref. Aciklama

Koa As Metal Description / Pa3bsicHeHue

Orijinal Kod

Original Number / OpurmnHanbHbIli Kog

Rotbasi M12x1,25 Sag Dis 48810-60B00 / 48810-82000
175220 Tie Rod End M12x1,25 RHT 48870-80060 / 48810-76G00
HakoHeuHwK pyneBoii Tarm  M12x1,25 MpaBas pe3bba 96052290

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com 389




